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Instructions for Candidates

1. Write your Roll No. on the top immédiétely on receipt
of this question paper.

2. The question paper is divided into two sections.

3. Attempt five questions in all, selecting three from
Section A and two from Section B.

4. Simple calculator is permissible.

5. Answers may be written either in English or Hindi;
but the same medium should be used throughout the
paper.
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SECTION A

(a) What is the importance of fiscal functions of the
state with respect to allocation distributiop and

stabilization? Explain. (9)

(b) Discuss why imperfect competition may lead to

Pareto inefficiency especially under monopoly

market structure. (6)
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(a) What arc externalities? How do these lead to

. - q )
market failure? (6)

(b) Discuss with the help of a diagram, the gains and

losses 1o the society from moving from a socially

inefficient level of output to a socially efficient

level of Output in the presence of negative

¢xternalities. Is a zero level of externalit

y socially
desirable?

(9)
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(a) Many government programs both redistribute
income and correct a market failure. What are
the market failures associated with each of these
programs?

(i) Social sccurity

(ii) Public clementary education (6)

P.T.O,
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(b) “‘In dealing with a ncgative externality problem,
Pigouvian tax and Pigouvian subsidy schemes bring
an cqually cfficient outcome with different
distributional consequences.’ Discuss. Mention two
problems associated with the Pigouvian subsidy
program. (7+2)
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4. (a) What is tax incidence? What are the various

alternative concepts of tax incidence? (7)

(b) Explain using diagrams how introduction of a tax
into a competitive market creates a wedge between
the price that buyers pay and the price that sellers
receive in the case of (i) Unit tax (ii) Ad-valorem
tax (8)
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5. Write short notes on any two :

(a) Pareto optimal conditions for the provision of public

and private goods (use diagrams) (7.5)

(b) Utility possibility curve and welfare maximization

(7.5)
(c) Role of coverage and time period in the distribution
of tax burden 4 . (7.5)

sl @ W dfera oo forfaw

(%) weawe i ol owgstl & weuaw & R W
Teeaw fafoar (A &1 Swamm =)

(@) SvAfiEr GrEAT o 3R Hed HEHAAT

P.T.O.



4441 6

(@) ¢ wR @ Rewor ¥ ol 4w R - oafey o
slﬁ{am

6. (a) Write down the major fiscal functions of a
government in an economy. Do you think that these

functions often overlap in practice? 9)

(b) What are the instruments of stabilization policy

used by the government? Discuss. ,(6)
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SECTION B

7. In the first half of the year 2020, when global crude
prices remained below $40 per barrel on average,
India’s retail prices on petroleum, oil and lubricants

(POL) products remained high. What were the reasons
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7

pehind this? How has the relative share of Central
and state governments in the revenue space provided
by POL products changed from 2011-12 to 2019-20

pefore and after devolution of taxes? (15)
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Discuss the gains from the implementation of Goods
and Services tax (GST). What are the distortions
associated with GST? (15)
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Consider the following information about an economy :

C =100 + 0.5(Y-T)

P.T.O.
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T = 100
G = 200
1= 100

Where C is the consumption function, G denotes

government cxpenditures, T is taxes and I is planned

investment.

(a) Find the equilibrium level of output (income) by
way of calculation as well as graphically. Also

find the government expenditure multiplier and the

tax multiplier. (6)

(b) Define and derive the balanced budget multiplier.
If the government increases its expenditure and
taxes by 100 units each, what would be the impact
on the equilibrium level of income? Calculate. Will
it remain unchanged? Why or why not? 9)
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C = 100 + 0.5(Y-T)
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G = 200
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10. (a) Discuss the role of Finance Commission towards
cooperative federalism and how it can remove

the imbalance in regional development in India.

)

(b) Explain the difference between :
(i) Fiscal deficit and primary deficit

(ii) Revenue deficit and effective revenue

deficit (3+3)
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